yoipete, & gilot!

Enclosed is the ATH2010 group’s collation for chapter 6 of Athenaze (Abvvale).

Group information and study schedule: http://www.jhronline.com/greek/ ATH2010/course.html
Anyone can join this study group at any time. Just send in a submission!

Send complete or partial assignments to jaihare @gmail.com by midnight your local time on Thursday with the tag
[ATH2010] and the chapter number (e.g., 6B) in the subject line.

We’re currently replanning our assignments, but the proposed schedule can be viewed as an image at:
http://www jhronline.com/greek/ATH2010/proposed_new_schedule.png

If we’ve lost you at some point because of schedule pressure, please consider rejoining up! Don’t give up on
Greek!! You can do it!

We had 4 participants this week:

#JAH Jason Hare <jaihare @gmail.com>

#LXD Lorcan Despanais <xreemao@ gmail.com>
#NAD NateD <private>

#RKM Rob McConeghy <robmccl @cox.net>

11 JAH We desire to walk home.

11 LXD We want to walk homeward.
I1 NAD We want to go home.

I 1 RKM we want to walk home.

12 JAH The young men and young women are very afraid in the labyrinth.
12 LXD The young men and the maidens are terribly afraid in the labyrinth.
12 NAD The young men and maidens are very afraid in the labyrinth.

12 RKM the young men and the maidens are very frightened in the labyrinth.

I3 JAH You are become lazy, slave.
“Are become” is an older English way of saying “have become”, meaning that it seems to me that this
means basically the same as “you are lazy”, but the change is inherent in the verb. What do you think?
I3 LXD You are getting lazy, slave.
I3 NAD You become lazy, slave.
I3 RKM you are getting lazy, slave.

14 JAH We arrive at Crete.

14 LXD We arrive at the spring.
14 NAD We arrive at Krete.

14 RKM we are arriving in Crete.

I'5 JAH The king receives us.

I5 LXD The king receives us.
I5 NAD The king receives us.
I 5 RKM the king receives us.



16 JAH The dog rushes at the wolf.

I 6 LXD The dog charges at the wolf.

16 NAD The dog rushes (itself) at the wolf.
I 6 RKM the dog rushes at the wolf.

17 JAH The women are sitting at the spring.
17 LXD The women are sitting near the spring.
17 NAD The women sit down by the spring.

I 7 RKM the women are sitting at the well.

I 8 JAH Theseus takes hold of [his] sword.

I 8 LXD Theseus takes hold of the swords (for himself).
I 8 NAD Theseus takes hold of his sword.

I 8 RKM Theseus grasps his sword.

19 JAH Do you not want to obey [your] father?
19 LXD Don't you wish to obey your father?

19 NAD Do you not wish to obey your father?
19 RKM aren't you willing to obey your father ?

110 JAH Do not fear the wolf, children.

110 LXD Don't be afraid of the wolf, boys.
110 NAD Don't be afraid of the wolf, children.
110 RKM do not be afraid of the dog, kids.

J 1 JAH The man does not obey you.
Dative with certain verbs.
J 1 LXD The man is not obeying you. (6.g - dative with certain verbs)
J 1 NAD The man does not obey you (pl.). Dat. use - Direct object.
J 1 RKM the man does not obey us. certain verbs

J 2 JAH Obey me, children.
Dative with certain verbs.
J 2 LXD Obey me, boys! (6.g - certain verbs)
J 2 NAD Obey me, children. Dat. use - Direct object.
J 2 RKM obey me, children. certain verbs

J 3 JAH Give the plow over to me.
Dative of the indirect object.
J 3 LXD Hand me the plow. (6.a - ind. object of verbs of giving)
J 3 NAD Hand over the plow to me. Dat. use - Indirect object.
J 3 RKM give me the plow. indirect object

J 4 JAH I tell the story to the child.
Dative of the indirect object.
J 4 LXD I am telling a boy the myth. (6.a - telling)
J 4 NAD I tell my son the story. Dat. use - Indirect object.
J 4 RKM I am telling the story to the child. indirect object



J 5 JAH The farmer has a plow.
Dative of the possessor.
J'5 LXD The plow belongs to the farmer. (6.b - dative of possession)
J 5 NAD There is for the farmer a plow = The farmer has a plow. Dat. use - Possession.
J 5 RKM the farmer has a plow. possessor

J 6 JAH The farmer, whose name [is] Dicaeopolis, leads the oxen to the field.

ovapartt is dative of respect; fovaiv is dative with certain verbs.
J 6 LXD The farmer, Dikaiopolis by name (6.c - dat. of respect), is leading the oxen (6.g - certain verbs) into the
field.
J 6 NAD The farmer, by the name of Dicaeopolis, leads the oxen into the field. Dat. uses - a. Respect. b. Direct
object.
J 6 RKM the farmer, Dikaeopolis by name, is leading the oxen into the field. respect and certain verbs

J 7 JAH The child pelts the wolf with stones.
Instrumental dative.
J 7 LXD The boy pelts the wolf with stones. (6.d - Means/Instrument)
J 7 NAD The boy pelts the wolf with stones. Dat. use - Means.
J 7 RKM the boy pelts the wolf with stones. instrument

J 8 JAH The woman hands over a lot of food to [her] husband.
Dative of the indirect object.
J 8 LXD The woman offers the man much food. (6.a Giving/Showing)
J 8 NAD The woman supply much food to her husband. Dat. use - Indirect object.
J 8 RKM the woman/wife is providing much food to the man/her husband. indirect object

J 9 JAH The master calls the slaves with such a cry that they are afraid.
Instrumental dative.
J 9 LXD The master calls the slaves with so great a shout that they are afraid. (6.d - Means or Instrument)
J 9 NAD The master calls his slaves with such a great shout that they are frightened. Dat. use - Means.
J 9 RKM the master calls the slaves with such a great shout that they are afraid. means(manner)

J 10 JAH The child has a good dog.
Dative of the possessor.
J 10 LXD The boy has a beautiful dog. (6.b Possession)
J 10 NAD There is for the boy a fine dog = The boy has a fine dog. Dat. use - Possession.
J 10 RKM the boy has a beautiful dog. possessor

K 1 JAH mpog tov dypov épyoueda.
We are going to the field.

K 1 LXD mpoc¢ tov dypov Epyoucbo.
We are coming to the field.

K 1 NAD mpog tov dypov €pyoueba.
We go toward the field.

K 1 RKM 7pog tov dypov £pyoueda.
we are going to the field.



K 2 JAH 7pog 1] 066 kabilovov.
They are sitting by the road.

K 2 LXD wpog t1} 60® xabilovotv.
They are sitting by the road.

K 2 NAD mpoc 1} 00¢ kabilovotv.
They sit by the road.

K 2 RKM 7pog 1) 006 kabilovow.
they are sitting by the road.

K 3 JAH £k tijc oixiog omevdet.
He hurries out of the house.
K 3 LXD éx ti|g oikiag omevdet.
He hurries out of the house.
K 3 NAD éxk tijg oikiag omebost.
He/She hurries out of the house.
K 3 RKM ék tijg oikiog omevdet.
he is hurrying out of the house.

K 4 JAH a6 tijg vijoov TAéovaty.

They are sailing away from the island.
K 4 LXD &no tfic vijcov mAéovotv.

They are sailing away from the island.
K 4 NAD ano tiig vijoov TAéovaty.

They sail from the island.
K 4 RKM a6 T vijoov TAEovaty.

they are sailing from the island

K 5 JAH «ota v 000V TopgvovTaL.
They are going down the road.
K 5 LXD «arta tijv 6d0v mopedovtal.
They are walking down the road.
K 5 NAD kot v 660v mopgbovat.
They walk/journey down the road.
K 5 RKM «otd tnv 000V Topeboval.
they are marching down the road.

K 6 JAH peta tdv Etaipov gevyel.

He is fleeing with his companions.
K 6 LXD peta tovg €taipovg Oevyet.

He is running off with his companions.
K 6 NAD peta tdv £taipov gedyet.

He/She flees with his/her companions.
K 6 RKM peta tdv Etaipov @evyel.

he is fleeing with his companions.



K 7 JAH év 1@ Aafopivbm péverte.

Remain in the labyrinth.
K 7 LXD év 1® haPopivie pévere.

You are remaining in the labyrinth.
K 7 NAD év 1® Aapopivim pévere.

You (pl.) stay/Stay in the labyrinth.
K 7 RKM év 10 Aafopivbm péverte.

you are staying in the labyrinth

K 8 JAH 1y€ic6e fuiv mpog v kprpvnv.
Lead us to the spring.
K 8 LXD nyeicOe nuiv mpog ThHv Kpnvnyv.
You are leading us to the spring.
K 8 NAD njyeicOe uiv mpoc tv kppvnv.
You (pl.) lead/Lead us to the spring.
K 8 RKM 1jyeic0e fjuiv Tpog v kprvnv.
you are leading (or lead!) us to the spring.

K 9 JAH oi naideg tpéyovotv ava tnv 0d0v.
The children run up the way.

K 9 LXD ol moideg tpéyovotv dva tiv 000v.
The boys are running up the road.

K 9 NAD oi moideg Tpéyovoty dva Ty 006v.
The children run up the road.

K 9 RKM oi 7taideg mpéyouaty ava Ty 0d0v.
the children are running up the road.

K 10 JAH ai mopBévor kabilovtar 1o 1o dEvdpov.
The maidens are sitting under the tree.

K 10 LXD ai map6évor kaBilovror K70 T® 6Evopw.
The girls are sitting under the tree.

K 10 NAD ai apBévor kabilovior Hod @ 0EvOp.
The maidens sit down under the tree.

K 10 RKM ai mopOévor kabilovtor 0o t@ dEvopm.
the maidens are sitting under the tree.

K 11 JAH 6 xdov oppdtor €mi 1@ AOKQ.
The dog rushes at the wolf.

K 11 LXD 6 k0@v opudrtol €mi ToV A0KOV.
The dog charges at the wolf.

K 11 NAD 6 xbwv opudtor &l TOv ADKOV.
The dog rushes (itself) at the wolf.

K 11 RKM 6 xoov oppdtot Emi TOV ADKOV.
the dog is rushing at the wolf.



K 12 JAH oi &taipot ig Tov Aafopwvbov gicépyovrat.
The companions enter into the labyrinth.

K 12 LXD oi £taipot gig tov Aafopwvbov eicépyovtar.
The companions are entering the labyrinth.

K 12 NAD ot £taipot gig tov AapopivBov gicépyovar.
The comrades go into the labyrinth.

K 12 RKM oi €taipot ig tov AapopvBov gicépyovtat.
the companions are going into the labyrinth.

L 1 JAH ép’ odk £€0re1g pot meifecOou, @ mod;

L 1 LXD dpo ook 80éleic nei@etv,d mod ;

L 1 NAD dp’ ook £0éAeig meifecai pot, & mod;
or @ dodAe ?

L 1 RKM dp' odk €0éeic neifecdai pot, @ mod ;

L 2 JAH Aéye pot tov udbov.

L 2 LXD Aéye pot tov pdbov.
L 2 NAD Aéye pot tov pdbov.
L 2 RKM e&iné pot tov pdbov.

L 3 JAH mopéym co/Opuiv 10 dpotpov.
L 3 LXD 10 Gpotpdv cot mapeym.

L 3 NAD 10 &potpdv 6ot mapéyopLat.
L 3 RKM 10V dipotpov coi Tapéym.

L 4 JAH &oti 1@ advtovpyd Podg.
See the bottom of pg. 290 for all of the forms of Bobc. This one is nominative, since the verb is éotiv
(doesn’t take a direct object).
L 4 LXD &0t 1® avtovy®d péyog foig.
L 4 NAD ot 1@ avtoupy®d Podc péyag.
L 4 RKM &oti 1@ avtovpyd péyog fodc.

L 5 JAH 6 veaviag, ®ncevg dvouartt, Toig £Taipoic dvopeing nyeital.

L 5 LXD 6 veaviag, ®ncebe 0vopaTt, Toig Etaipoig avopeimg fysitat.
L 5 NAD 6 veaviog, dvopatt ®@ncedc, toic £Taipoic dvopeing nyeitat.
L 5 RKM 6 veaviag, ®noevg dvovartt, Toig £Taipoic dvdpeimg nyeitat.

L 6 JAH 6 naig tov AMkov AMibm BaAdet.

L 6 LXD 6 moic tov Avkov AMOo Pa;AAeL.
L 6 NAD 0 moic tov Aokov MO Pariet.
L 6 RKM 6 7aig tov Adkov Aibm PaAlet.

L 7 JAH 1 mapBévog ti) ¢ikn oitov mapéyet.
L 7 LXD 1} mapBévog tov oitov T oiln mopéyet.
L 7 NAD 1 mapBévog 1@ ¢ilw/tii ¢ikn oitov mapyet.
"her" is implied by the article in either, whichever gender this friend may be.
L 7 RKM 1| mapBévog citov 1@ ilo mapéyet.



L 8 JAH 6 d00Ao¢ To0G Bodg T@ KEVIPQ KOTTEL

L 8 LXD 6 d0dAog To0¢ Podg T@® KEVTP® TOTTEL

L 8 NAD 6 d00A0¢ 100G fodc 1@ kEvipm PAAAEL
L 8 RKM 6 dobroc tovg folc kévpm PaAlet.

L 9 JAH 1| mapBévog taic morag Tpocympel. / Tpog TG TOAOG TPOGEPYETAL.
L 9 LXD 1 moig toig moAaig mpocympel.

L 9 NAD 1 mapBévog taic moiaig Tpocympel.

L 9 RKM 1| mapBévog mpog tag moAag (or Toig ToAdLG ) TPOsmpEl.

L 10 JAH év 1] votepaia ol ABnvaiot £k 1o AaPupiviov (EK)eevyovoty.
L 10 LXD t1j botepaiq ol ABnvaiot £k Tod AapupivBov pedyovstv.

L 10 NAD t1j votepaia ol AGnvaiot £k Tod AafopivBov ékpedyovov.

L 10 RKM 1] votepaig ot ABnvaiot €k tod Aafvpibov eevyovoty.

M 1 JAH Theseus wants to save his companions.
M 1 LXD Theseus wants to save his companions.
M 1 NAD Theseus wants to save his comrades.
M 1 RKM Theseus wants to save his companions.

M 2 JAH The Athenians arrive at the island, and the king receives them.
M 2 LXD The Athenians arrive on the island; and the king receives them.
M 2 NAD While the Athenians arrive at the island, the king receives them.
M 2 RKM the Athenians arrive at the island, and the king receives them.

M 3 JAH Don’t fight, friends, and don’t cry out, but keep silent.
M 3 LXD Don't fight, friends, and don't shout, but be quiet.

M 3 NAD Do not fight, my friends, nor shout but be quiet.

M 3 RKM do not fight, friends, and don't shout, but be quiet !

M 4 JAH When it becomes night, the maiden comes to the gates.
M 4 LXD When night falls, the girl comes to the gates.

M 4 NAD When night comes, the girl goes toward the gates.

M 4 RKM when night comes, the maiden goes to the gates.

M 5 JAH When Theseus kills the Minotaur, we follow him out of the labyrinth.

M 5 LXD When Theseus kills the Minotaur, we follow him out of the labyrinth.
M 5 NAD When Theseus kills the Minotaur, we follow him out of the labyrinth.
M 5 RKM when Theseus kills the Minotaur, we follow him out of the labyrinth.

M 6 JAH 6 Aiyedc pubro/péyo gofeitor aALd meibetot avtd.
M 6 LXD 6 pev Aiyedg udia @oPeitat, adtd o0& meibetat.

M 6 NAD 6 Aiyevg pudia poPeitan dAAd meibeton adTd.

M 6 RKM 6 Aiyevc péia pofeital, GAAL odTe TeibeTar.

M 7 JAH ot pév €taipor pdia/péyo opodvat, 6 8¢ Onoeds avToig avopeimg fyeiTat.
M 7 LXD oi pev étaipotl pdiiota eofodvral, 6 6 Oecevg avopeing adtoic nyeitat.
M 7 NAD oi pév £taipot poiota pofodvral, 6 0& Onoevg avopeing Mysitatl ovToic.
M 7 RKM oi p&v €taipot pdAioto ofotviatl, 60 6& Oncede antoig avopeimg fysitat.



M 8 JAH tov Mwvdtovpov | goPeiche, & £taipot, AL’ dvdpsio Eote.

M 8 LXD pn poPeicfe, ® gilot, dALd 601 dvdpeimg.

M 8 NAD pn @oPeicOs tov Mvdtavpov, @ gikot, 6AL dvSpsiol c0e.

M 8 RKM pny ¢oPeicOe tov Mivdtapov , & gikot, AL dvdpsiot yiyveche.

M 9 JAH éneil juépa yiyveta, 1) vodg €ig Trv vijoov AQikveitat.
The paradigm for vadg is also found on page 290, along with Bodg.
M 9 LXD énel nuépa yiveral, 1| vadg i v vijoov dpikveital.
M 9 NAD énrei nuépa. yiyvera, 1 vadv €ig Tnv vijoov GQIKVEITAL.
M 9 RKM émel uépa yiyvetat, 0 vadg €ig TV vijoov apikveltat.

M 10 JAH énei eig v Kpimnv mopevopueda, morlhag vijooug 0p@dLEV.

M 10 LXD émel mopevopeba gig tnv Kpnnv, ToAldg vijoovg 0pdLEV.
M 10 NAD énel mpog v Kprjtny mopevodueda, vijdot moArai Opduev.
M 10 RKM énei mpog Kpnmnv mopevoueda, morlhag vijoovg 0pdoty.

N 1 JAH év @ Ap1édvn karel, 0 0e0g Atdvucog BAEREL 4O TOoD oLPAvOD TPOG TNV YIV' Enerta TV ApLadvny Oopd
Kol £pQ aOTiC.

N 1 LXD &v @ 1 Ap1advn kodel, 6 0£6¢ 6 Atdvococ 6mrd odpavod Tpdg THY YRV * Enetta v Aptédvny opdl kod
QUAEL.

N 1 NAD év ® 1} Aptadvn kodel, 6 080¢ 6 Atdvucog amd tod odpavod PAémet mpdg TV yijv: Emerta 88 TV
Ap1advny 0pd kol QULel avTnv.

N 1 RKM &v ® 1 Aptédvn kodel, 6 0£0¢ 6 Atdvcog kot odpavoy mpdg Thy YRV PAETsL; &nel Thv Aptédvnv Opd
Kol 00TV QIAEL.

N 2 JAH néteton odv 4md Tod 00poavod mpdg T yiv, Koi &mel gig Thv vijoov dgikveital, Tpooympel avTh Ko, “®
Ap1aodvn,” enoiv: “un eofod. &ym yap, 6 Aldvucog, mhpeil. £pd cov Kol BovAopai oe odlewv. EABE petd pov
TPOG TOV 0VPOVOY.”

N 2 LXD métetor odv and ovpavod Tpog yijv. €mel 8€ ApIKVeTTOL TPOG TNV VIjooV, TPOoSY®PEl avti) kol "Aptadvn,"
onoiv, "un eofod. £yd yap Advocoug Tapelu. o€ PIAG tekal PodAiopot cdley. Emecds pot gig ovpavov.”

N 2 NAD nétetar ovv 4md Tod o0povod mpdg TV yijv. émel 8 gig TV vijoov dgikveitat, mpooympel ot} kod, "
PoPod," pnoiv, "® Apladvn £yo Yap, 6 Atdvucoc, Thpett. PILET o€ Kol foviopar cdet. 101 pet’ duod mpog TOV
ovpavov."

N 2 RKM otHtm¢ odv dmd tod 00pavod Tpdg Ty YV TETETAL Kai ML £i¢ TNV VGOV AQIKVETTAL, ODTH TPOGEPYETAL
Kol "® Apadvn", enot, " eoPod. £ye Yap, Atdvocog, mapsiut. GIAG o kol Bovlopat 6o cdlety. EMOE dmd
00POVOV ETA LOV.

N 3 JAH yoipet odv 1] Aptadvn xoi Epyetar pet’ adtod / mpog anTov.
N 3 LXD 1j odv Aptédvn yoipel Tekoi adTd mTpocywpeEl.

N 3 NAD jyaipet obv 1} Aptédvn koi Epyeton Tpog adTov.

N 3 RKM ottmg odv 1} Aptédvn youpel kai odTtov mpocyopel.

N 4 JAH &netta 6 Atdovucog avoaeEpel adTiv TPOg TOV 00pavov: Kol 1) Apiadvn Bea yiyveton kol pével eicael &v t@
0VpOaV®.

N 4 LXD &retta 6 Atdvocog €ig ovpavov avagépet © Aptadvn pev Bea yiyveral, icael 8 &v ovpav@ pével.

N 4 NAD &retta 6° 60 Atdvucog adTIV Avagépel TPOg TOV ovpavov' 1 0° Apladvn Bed yiyveton kol eicoel pévet &v
TG OVPOVE.

N 4 RKM érel 0 Atdvucog adthv avaeépet ava Tov ovpavov: Aptadvn o€ Bsav yiyveton kai &v T@ ovpovd eicoel
HEVEL.



